MA 241 Test 4 Version 1: Be sure to show all of your work and specify every test you use as
well as the requirements for each test as we have done in class.

1. (30 points) Determine if the following series converge or diverge. Find the sum of

convergent series. Justify your answers thoroughly as we have done in class.
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Include the first three partial sums with your answer

2. (6 points) Use a, = %to answer the following:

a) Does the sequence a,, = %converge or diverge? If it converges, find its limit.

b)Does the series Y:n; @, converge or diverge? Briefly justify your answer.

3. (13 points) Determine if the series Z;":zn—[l—nl(n—)]z converges or diverges by the

Integral Test. Briefly mention the two conditions we need to have before we can

apply the Integral Test.

4. (24 points) Find the radius and interval of convergence of }.;7_; 2(:\;%7;

_ x
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5. (14 points) a) Find a power series representation for f(x) and determine its

radius of convergence. Fully simplify your series as we have done in class.
dx
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b) Use your answer from part a) to find [

6. (13 points) Determine if the following series are absolutely convergent,

conditionally convergent, or divergent
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